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Suppose that each of 300 patients has a probability of 1/3 of being helped by a treatment independent
of its effect on the other patients. Find approximately the probability that more than 134 patients
are helped by the treatment. (Be sure to use the continuity correction. You will not receive full

credit otherwise)

Wt The wmen, of B\, b,p) //L-V\P
e Skn al deyladon oL g\, Wpd s

(\-300

- \/
/v\ WP = 300 (:Q» o
1= P(x ¢ s)

8= (wpq = Vzo0(¥’ ,Q

X =+ thﬂewl-s he\ped
P(Xz gus) =

\._




® Gonecept—iet

. A fair coin is tossed, and you win a dollar

if there are exactly 50% heads. Which is
better?

@O tosses

b 100 tosses

100 tosses are better because according to the
law of average as the number of tosses
increases you are more likely to be closer to

b 50%.
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Std dev is higher for n=100 so you are less likely to
land exactly on 50% heads after 100 tosses
a compared to 10

TDay

(DQM\\‘\I\ Ssec 2T
@ Sec Z.“\ ?®‘>S°ﬂ MP(W\(\MMA (Sk\f Séc 7-0



C\) Sec 2T Mofwmal ‘u\ﬂl‘Okémuﬂovp o ¥z Bomlal &b\%}biloq

Foy Wk VP 7> ¥ 0k 4o @proximate
B (a,p) & & norwel st bt dos NQ.gé")
Nz Swee Gv Ded ¢, A= b o lex) s wore. .
Norvel S\MweJ > V)‘ncvm,\m. (C LT)
OUL(DWe\ ot B (vs_,(ﬁ Qe olljz) ..}V\
A3 Y Wb our AW 15 behera atig—  umdre vl
,)A;\Aw\lv‘o
S0 M-30"70 aw) MA3CLN

O mde M M3C N

)
T G@n ue aeox. Bl (20, %) by the ot
VACI N, T 7 =

!
n=0 1
M= V() 2 {osp = 27 c)?

Mape= 2= b 4
N\ ©

.

R

|



A AR 0 .com /.QQV'\gb —OTY

stat 134 concept test

September 7 2022

Southwest overbooks its flights, knowing some people will not show up. Suppose
for a plane that seats 350 people, 360 tickets are sold. Based on previous
data the airline claims that each passenger has a 90% chance of showing up.
Approximately, what is the chance that at least one empty seat remains?
(There are no assigned seats)
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